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TIME & DISTANCE ASSIGNMENT  
 
1. A car travels 60 km with 3 litres of petrol. If the car has to cover the distance 

of 200 km, it requires x litres of petrol. Then find x?  
 xU kfpOe;J 60 fp.kP J}uj;ijf; flf;f 3 ypl;lh; ngl;Nuhy; Njitg;gLfpwJ. 
 mNj kfpOe;J 200 fp.kP J}uj;ijr; nrd;wila> Njitahd ngl;Nuhypd; 
msT  x. vdpy; 'x' I fz;lwpf.  
 a. 5   b. 3   c. 8   d. 10 
 

2. A motorbike requires 2 litres of petrol to cover 100 kilometers. How many 
litres of petrol will be required to cover 250 kilometers?  
 XH ,Urf;fu thfdk; 100 fp.kP njhiyitf; flf;f 2 ypl;lh; ngl;Nuhy; 
 Njitg;gLfpwJ vdpy;> 250 fp.kP njhiyitf; flf;fj; Njitahd ngl;Nuhy; 
 vt;tsT?  
 a. 5 litres  b. 4 litres   c. 6 litres   d. 7 litres  

 
3. A train covers a distance of 195 km in 3 hrs. At the same speed, the distance 

travelled in 5 hours is  
xh; ,uapy; tz;b 195 fpNyhkPl;lh; J}uj;ij 3 kzp Neuj;jpy; flf;fpd;wJ. 
mNj Ntfj;jpy;> me;j ,uapy; tz;b 5 kzp Neuj;jpy; flf;Fk; J}uk;  
a. 195 km  b. 325 km  c. 390 km  d. 975 km   

 

4. A bus covers a distance of 90 km at a uniform speed. Had the speed been 15 
km/hour more it would have taken 30 minutes less for the journey. Find the 
original speed of the journey.  
xU NgUe;J 90 fp.kP njhiyitr; rPuhd Ntfj;jpy; flf;fpwJ. mjd; Ntfk; 
15 fp.kP / kzp mjpfhpf;fg;gl;lhy;> gaz Neuk; 30 epkplq;fs; FiwfpwJ 
vdpy;> NgUe;jpd; Ntfj;ijf; fzf;fpLf.  
a. 45 km/hr  b. 50 km/hr c. 55 km/hr d. 60 km/hr  

  

5. A constable is 114 m behind a thief. The constable runs 21 m and the thief 15 
m in a minute. In what time will the constable catch the thief? 
xU fhtyh;> jpUlid tpl 114 kP gpd;dhy; cs;shh;. fhtyh; epkplj;jpw;F 
21kP Ntfj;jpYk;> jpUld; 15 kP Ntfj;jpYk; Xbdhy;> fhtyh; vt;tsT 
Neuj;jpy; jpUlidg; gpbg;ghh;? 
a. 16 min.  b. 17 min.  c. 18 min.   d. 19 min 

6. Two trains 121m and 99m long are running in opposite direction, one at the 
speed of 40km/hr. The other at the speed of 32km/hr. In what time will 
they completely clear off each other from the moment they meet? 
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 121kP ePsKk; 99 kP ePsKk; cs;s ,uz;L Gif tz;bfs; KiwNa 40 fp.kP 
 / kzp> 32 fp.kP / kzp Ntfq;fspy; vjpnujph; jpirfspy; XLfpd;wd.  mit 
 xd;iwnahd;W flf;f vt;tsT Neuk; MFk;?  
a. 10 sec  b. 11 sec  c. 12sec  d. 15 sec 

 
7. A train 160m long is running at 40km/hr. In how much time will it pass a 

platform 140m long? 
 160 kP ePsKs;s xU ,uapy; tz;b kzpf;F 40 fp.kP Ntfj;jpy; nry;fpwJ. 
 me;j ,uapy; tz;b 140 kP ePsKs;s xU eilNkilia flf;f vt;tsT 
 Neuk; vLj;Jf; nfhs;Sk;.  
a. 21 seconds b. 22 seconds c. 25 seconds d. 27 seconds 

  
8. A boat moves downstream at the rate of 1 km in 6 minutes and upstream at 

the rate of 1 km in 10 minutes. The speed of current is 
 ePNuhl;l jpirapy; xU glF 6 epkplq;fSf;F 1 fp.kP vd;w Ntfj;jpYk;> mjd; 
 vjph;jpirapy; 10 epkplq;fSf;F 1fp.kP vd;w Ntfj;jpYk; nrd;why; 
 ePNuhl;lj;jpd; Ntfk; ahJ?  
a. 2km/hr  b. 1km/hr  c. 1.5km/hr d. 2.5km/hr 

 
9. A train 150m long crosses 175m long platform in 13 seconds. Calculate the 

speed of train in km/hr. 
 150 kP ePsKs;s xU ,uapy;> 175 kP ePsKs;s xU eilNkilia 13 
 tpehbfspy; flf;fpwJ vdpy; ,uapypd; Ntfj;ij fp.kP / kzpapy;  
 fzf;fplTk; 
a. 25 km/hr  b. 45 km/hr c. 90 km/hr d. 93 km/hr  

 
10. A train takes 18 seconds to pass through a platform 162 m long  and 15 

seconds to pass through another platform 120 m long then the length of the 
train in 
 xU njhlh; tz;b (train) 162 kP ePsKs;s eilNkilia 18 tpdhbfspYk;> 
120  kP ePsKs;s kw;nwhU eilNkilia 15 tpdhbfspYk; fle;jhy; njhlh; 
tz;b  ePsk; vd;d? 

a. 90 m  b. 100 m  c. 110 m  d. 120 m 
  

11. A truck covers a distance of 550 metres in 1 minute whereas a bus covers a 
distance of 33 kms in 45 minutes. The ratio of their speeds is 
 xU yhhp 1 epkplj;jpy; 550 kPl;lh; J}uj;ij flf;fpwJ. mNj Neuj;jpy; xU 
 NgUe;J 45 epkplq;fspy; 33 fp.kP flf;fpwJ. mtw;wpd; Ntfj;jpd; tpfpjk; 
 fhz;f.  
a. 2:3   b. 3:4   c. 4:5   d. 5:6 
 

12. A certain distance is covered by a cyclist at a certain speed. If a jogger covers 
half the distance in double the time, the ratio of the speed of the jogger to 
that of the cyclist is :  
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irf;fps; Xl;Lgth; xU Fwpg;gpl;l J}uj;ij Fwpg;gpl;l Neuj;jpy; flf;fpwhh; 
kw;nwhU rPuhf XLgth; mjpy; ghjp J}uj;ij ,Uklq;F Neuj;jpy; flf;fpwhh; 
vdpy; XLgtUf;Fk; irf;fps; Xl;LgtUf;Fk; ,ilNaahd Ntfq;fspd; 
tpfpjk;?  
a. 1 : 2    b. 2 : 1   c. 1 : 4    d. 4 : 1 

 
13. A boy goes three equal distances, each of length x km, with a speed of y 

km/hr, 
3

5

y
km/hr  and 

2

5

y
 km/hr respectively. If the total time taken is 1 

hour, then x : y is equal to 
xU rpWtd; %d;W rk J}uq;fis (xt;nthd;Wk;;; x fp.kP ePsk;) KiwNa y 

fp.kP / kzp> 
3

5

y
 fp.kP / kzp kw;Wk; 

2

5

y
fp.kP / kzp vd;w Ntfj;jpy; 

flf;fpwhd;. nkhj;jk; 1 kzp Neuk; vLj;J nfhs;fpwhd; vdpy; x : y f;F 
rkkhdJ.  
a. 6 : 13   b. 6 : 23  c. 6 : 31  d. 6 : 37 

 
14. The speeds of three cars are in the ratio 2 : 3 : 4. The ratio of the times taken 

by these cars to travel the same distance is         
%d;W fhh;fspd; Ntfq;fspd; tpfpjq;fs; KiwNa 2 : 3 : 4 mNj J}uj;ij 
flf;f ,k;%d;W fhh;fSk; vLj;J nfhs;Sk; Neuj;jpw;fhd tpfpjk;  
a. 2 : 3 : 4      b. 4 : 3 : 2  c. 6 : 3 : 6  d. 6 : 4 : 3 

  
15. A person has to cover a distance of 6 km in 45 minutes. If he covers one-half 

of the distance in two-thirds of the total time; to cover the remaining 
distance in the remaining time, his speed (in km/hr) must be 
xU egh; 6 fp.kP J}uj;ij 45 epkplq;fspy; flf;f Ntz;Lk;. mth; ghjp 
J}uj;ij nkhj;j Neuj;jpy; %d;wpy; ,uz;L gq;F Neuj;jpy; fle;jhh; vdpy;> 
kPjKs;s J}uj;ij kPjKs;s Neuj;jpy; flf;f vt;tsT Ntfj;jpy; (fp.kP / 
kzp) nry;y Ntz;Lk;.  
a. 6   b. 8  c. 12   d. 15 

16. A can complete a journey in 10 hours. He travels first half of the journey at 
the rate of 21 km/hr and second half at the rate of 24 km/hr. Find the total 
journey in km.  
A xU gazj;ij 10 kzp Neuj;jpy; Kbf;fpwhh;. mth; Kjy; ghjp gazj;ij 
kzpf;F 21 fp.kP Ntfj;jpYk;> ,uz;lhtJ ghjpia kzpf;F 24 fp.kP 
Ntfj;jpYk; gazpj;jhh; vdpy;> nkhj;j gaz J}uk; (fp.kP)  
a. 220 km    b. 224 km  d. c. 230 km    d. 234 km 

 

17. A is faster than B. A and B each walk 24 km. The sum of their speeds is 7 
km/hr and the sum of times taken by them is 14 hours. Then, A's speed is 
equal to 
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B I tpl A Ntfkhdth; A kw;Wk; B xt;nthUtUk; 24 fp.kP elf;fpd;wdh;. 
mth;fspd; Ntfq;fspd; $Ljy; 7 fp.kP / kzp kw;Wk; mth;fs; vLj;J 
nfhz;l Neuq;fspd; $Ljy; 14 kzpNeuk; vdpy; A d; NtfkhdJ. 
a. 3 km/hr   b. 4 km/hr  c. 5 km/hr   d. 7 km/hr 

 

18. A man can walk uphill at the rate of 
1

2 /
2

km hr  and downhill at the rate of 3 
1

4
 

km/hr. If the total time required to walk a certain distance and return to the 
starting point was 4 hr 36 min then what was the distance walked up the hill 
by the man? 

xU egh; kiyapy; Nky; Nehf;fp 
1

2
2

 fp.kP / kzp Ntfj;jpYk;> fPo;Nehf;fp 3 
1

4  
fp.kP / kzp Ntfj;jpYk; elf;fpwhh;. njhlf;f Gs;spapypUe;J Nky; Nehf;fp 
nrd;W jpUk;g nkhj;jk; 4 kzp Neuk; 36 epkplk; vLj;jhh; vdpy;> Nky; Nehf;fp 
mth; ele;J nrd;w njhiyT vd;d?  

a. 4 km    b. 4
1

2
 km  c. 5

1

2
 km     d. 6

1

2
km  

 

19. A train travels at a speed of 30 km/hr for 12 minutes and at a speed of 45 
km/hr for the next 8 minutes. The average speed of the train for this journey 
is 
xU ,uapyhdJ 12 epkplj;jpw;F 30 fp.kP / kzp vd;w Ntfj;jpYk; mLj;j 8 
epkplj;jpw;F 45 fp.kP / kzp vd;w Ntfj;jpYk; gazpf;fpwJ. ,g;gazj;jpy; 
,uaypd; ruhrhp Ntfk; 
a. 30 km/hr   b. 36 km/hr c. 37.5 km/hr     d. 48 km/hr 

 

20. A student walks from his house at a speed of 
1

2
2

 km per hour and reaches 

his school 6 minutes late. The next day he increases his speed by 1 km per 
hour and reaches 6 minutes before school time. How far is the school from 
his house? 

xU khztd; jd; tPl;by; ,Ue;J 
1

2
2  

fp.kP / kzp Ntfj;jpy; ele;J 

gs;spia 6 epkplq;fs; jhkjkhf milfpwhd;. mLj;j ehs; mtd; 1 fp.kP / 
kzp Ntfj;ij mjpfgLj;jp 6 epkplk; Kd;djhf gs;spia milfpwhd;. 
tPl;by; ,Ue;J gs;spf;fhd njhiyT vt;tsT?  

a. 
1

1
4

 km   b. 
3

1
4

km  c. 
1

2
4

km   d. 
3

2
4

km 
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TIME & DISTANCE ASSIGNMENT  
 

 

1 2 3 4 5 6 7 8 9 10 

D A B A D B D A C A 

11 12 13 14 15 16 17 18 19 20 

B C C D C B B D B B 

 


